Stoichiometry/Limiting Reagent Lab Quiz
In an experiment similar to the one which we did reacting Mg with HCl, a student noted the following data before starting the reaction of Mg with HCl. 

Mass of Magnesium in balloon one
0.6g
Mass of Magnesium in balloon two 
1.2g

Mass of Magnesium in balloon three 
2.4 g

Moles of HCl 



0.05 

1. Write the balanced equation for the reaction that the student performed.

2. The type of chemical reaction this would be is ________.


a. combustion

c. single displacement


b. synthesis

d. double displacement

3. The moles of magnesium in balloon one is ________.


a. 0.026 moles

c. 0.0147 moles


b. 13.8 moles
 
d. 0.0726 moles

4. The moles of H2 gas produced by the amount of HCl above would be________.


a. 0.10 moles

c. 0.05 moles 


b. 2 moles 

d. 0.025 moles
5. The limiting reagent in the reaction of HCl with balloon three was _________.


a. Hydrochloric acid
c. Magnesium 


b. Hydrogen
 
d. there was no limiting factor
6. The number of molecules of H2 that was produced by the reaction of HCl with balloon two

a. 1.20 X 1024

c. 1.50 X 1022

b. 6.023 X 1023
d. 3.01 X 1022
7. Write the balance equation representing the complete combustion of the hydrogen gas (H2).

8. Propane (C3H8) fuel combusts according to the following equation:



C3H8 + 5O2    (     3CO2 + 4H2O


a. How many moles of oxygen are required to combust 4.30 moles of propane?


b. How many grams of carbon dioxide are produced upon the combustion of 96.1 grams of propane?

9. Solid lithium hydroxide is used in the NASA shuttles to remove carbon dioxide from the living    environment. The products from this reaction are lithium carbonate and water.


a. Write the balance equation for this reaction.


b. What is the total mass of carbon dioxide which can be absorbed by the 1,000 grams of lithium hydroxide?  
